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AT IA [Hi A VAN 33 BHEEYT | 122 RHEd | 11.0 B3 R1.6.25
AT IIA JEH BT E)I BmHEtEd 100 mHt9 | 100 BREtEd R1.6.17
AT HA JEHE FHE BmHEHEd 100 BmHEtEd 100 BREtEd R1.6.25
AT IIHA JEH FH BmHEEd 100 BmHEEd 100 BREEd R1.6.28
AT TA i 7l BRHEEd3 100 RHEY 100 BRHEEd R1.6.26
AT IIA i KER BmHEET 118 RHEd | 104 BRHEEd R1.6.5
AT IA Fia H Wiz BmHEY | 100 RHEd | 100 B3 R1.6.10
AT A itas] it BmHEtEd 100 RHt9 | 100 BREtd R1.6.6
AT A itas] if: BmHEtEd 100 BmHEtEd 100 BREtEd R1.6.10
AT IIHA itss] it: BmHEEd 100 BmHEEd 100 BREEd R1.6.13
AT HA iss] i: BmHEEd 100 BmHEEd 100 BREEd R1.6.26
AT A IMET INE BmHEY | 100 RHEY 100 BREEd R1.6.17
AT A IMNETT INE BRHEY | 100 RHEd | 100 B3 R1.6.18
AT IA IMET INE BmHEEY | 100 RHEd | 100 B3 R1.6.28
AT A IMEST 5 H BmHEtEd 100 mHt9 | 100 BREtEd R1.6.18
AT IIHA IMET 5 H BmHEEd 118 BmHEtEd| 106 BREtEd R1.6.20
AT HA Z3#H —#H BmHEEd 100 BmHEEd 100 BmEEd R1.6.3
AT A ZHH —HHA BHEY | 100 RHEY 100 BRHEEd R1.6.18
AT A —HH —HHA BHEY | 100 RHEd | 100 BRHEY R1.6.26
AT A —HH ZHH BmHEEY | 100 RHEd | 100 B3 R1.6.27
AT IIA =3 H Bl BmHEtEd 100 R3] 100 BREtEd R1.6.5
AT IIHA Z#H Bl BmHEEd 100 BmHEtEd 100 BEtEd R1.6.14
AT A K&E IMEH BRHEEd 120 BmEtEd 6.9 BREEd R1.6.20
AT HA KB Hh BmHEEd 118 BmHEEd| 107 B9 R1.6.18
AT A N Ho BmHEEYT | 120 RHEY 108 BRHEEd R1.6.24
AT IIH A Bk BHEEJ! 100 RHEE3 | 100 BREEY R1.6.18
AT A A 1EH BmHEtEd 100 RHt9 | 100 BREtd R1.6.10
AT IIA A JE A BmHEEd 100 R3] 100 BREtEd R1.6.26
AT IIHA b=t STE BRHEEd 119 BmHEEd| 105 BREEd R1.6.18
AT A b=t £ H BmHEEd 100 BmHEEd 100 BREEd R1.6.19
AT A P=b. & H BmHEEY | 100 RHEY 100 BREEd R1.6.28
AT IIA =% iR BRHEY | 100 RHEd | 100 B3 R1.6.17
AT A =i xiR BmEEd 114 Rt 103 BREtEd R1.6.18
AT IIA =i xiR B9 104 Rt 107 BREtEd R1.6.20
IZIA Z#H —HH BmHEEd 100 BmHEtEd 100 BmEtEd R1.6.14
IAIHA Z#H —#HH BmHEEd 100 BmHEEd 100 BREEd R1.6.17
Y, i A BmHEEd 100 BmHEEd 100 BmEEd R1.6.10
195 INEST 17 BmHEEYT ] 119 RHEY] 109 BHEEd R1.6.26
195 Z#H —HHA BmHEEY | 100 RHEd | 100 B3 R1.6.7
v, R —#H —HH BmHEtEd 100 mHt9 | 100 BREtEd R1.6.7
hihFv A 71| BREEd 122 BmHEEd 111 BREtEd R1.6.18
HRF¥ s EE BRHEEd 120 BmHEEd 110 BREEd R1.6.18
HRF¥ IMEST 15 H BmHEEd 100 BmHEEd 100 BmEEd R1.6.19
HRF¥ INEST 17 BmHEEYT 119 RHEY ] 111 BHEEd R1.6.17
HWiRF+v IMEST 172 BEEI] 116 @HEd | 10.6 BEEd R1.6.18
HRF¥ INEST T BHET] 100 EHEd| 100 BHEd R1.6.6
hihFv ] SITE BmHEEd 100 BmHEtEd 100 BREtEd R1.6.21
Xal) B A FHE BREEd 121 BmEEd 111 B R1.6.21
Xayl) B A SAHE | mEEd 119 BmHEEd 109 BmEEd R1.6.24
Fanl B A F1E BRHEHET | 121 RHEY| 108 BRHEEd R1.6.17
*anl B hDHT BmHEHEYT 118 RHtEd | 108 BRHEEd R1.6.17
Fal JEH BiE I BmHEEY | 100 RHEd | 100 B3 R1.6.11
Fal) JEH BT E)I BmHEtEd 100 RHt9 | 100 BREtEd R1.6.11
Xayl) JEH B EJI BmHEEd 100 BmHEtEd 100 B R1.6.14
Fayl) JEH miIEJII BmHEEd 100 BmHEEd 100 BmEEd R1.6.17
Fanl EH giAJIl BHEEY | 100 RHEY| 100 BmEEd R1.6.18
Fayl) EH BiIE)Il BHEI! 100 RHEE3 | 100 BREET R1.6.19
Fal JEH B A BRHEY 100 RHEd | 100 B3 R1.6.20
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Fal JEH miE I BmHEEYT 118 RHEd | 11.0 B3 R1.6.21
Fal) JEH BT E)I BmHEtEd 100 mHt9 | 100 BREtEd R1.6.21
Fayl) JEHE BIEJI BmHEHEd 100 BmHEtEd 100 BREtEd R1.6.21
Xayl) i A E I BmHEEd 100 BmHEEd 100 BREEd R1.6.24
Fanl EH miEJI BRHEEd3 100 RHEY 100 BRHEEd R1.6.24
*anl EH Bl BRHEY | 100 RHEd | 100 BRHEEd R1.6.24
Fal JEH miE I BmHEY | 100 RHEd | 100 B3 R1.6.24
Fal) JEH AT E)I BmHEtEd 100 RHt9 | 100 BREtd R1.6.24
Farl) JEH BIEJI BmEEd 114 BmHEtEd| 105 BREtEd R1.6.25
Fayl) JEHE A EJI BmHEEd 100 BmHEEd 100 BREEd R1.6.26
*al) JEHE mirEJII BmHEEd 100 BmHEEd 100 BREEd R1.6.26
Fanl EH FH BmHEY | 100 RHEY 100 BREEd R1.6.20
Fanl EH EE BRHEY | 100 RHEd | 100 B3 R1.6.10
Fal JEH EE BmHEEY | 100 RHEd | 100 B3 R1.6.27
Xary) i H R BT BmEEd 122 Rt 111 BREtEd R1.6.28
Xayl) A LI ZFET BmHEEd 118 BmHEtEd| 105 BREtEd R1.6.25
Fayl s FILFRT | BREEY 121 BmHEEd 111 BmEEd R1.6.21
Fanl A% 71| BmHEYT | 128 RHEY] 115 BRHEEd R1.6.19
Fal) A% 7a)ll BRHET | 125 RHEd | 114 B3 R1.6.27
Fal G 71| BRHET | 117 RHEd | 107 B3 R1.6.28
Fal) i 71| BREEd 121 Rt 11.0 BREtEd R1.6.28
Xayl) s L1l BmHEEd 126 BmEEd 114 BEtEd R1.6.28
Fal) s KER BRHEEd 130 BmHEEd 120 BREEd R1.6.21
*al) Lt KER BmHEEd 116 B3| 106 B9 R1.6.24
Fanl A% KER BmHEEY | 100 RHEY 100 BRHEEd R1.6.24
Fal G AEE BRHEYT| 114 RHEd | 105 B3 R1.6.26
Fary) i AEIR BHEE9] 117 @HEd|  10.6 BHEeEd R1.6.28
Fal) it RER BmEEd| 117 Rt 107 BREtEd R1.6.28
Fal) it =H BRHEEd 122 BmEEd 111 BREEd R1.6.3
*al) i =H BmHEEd 120 BmHEEd| 109 BREEd R1.6.17
Fanl A% RH BRHEET | 122 RHEY] 110 BREEd R1.6.21
Fanl A% RH BRHEEYT | 120 RHEd | 102 B3 R1.6.24
Fal) i KH BmEtEd 124 Rt 11.2 BREtEd R1.6.24
Fal) it &H BREEd 121 Rt 110 BREtEd R1.6.24
Fal) it KH BREEd 122 BmHEEd| 109 BmEtEd R1.6.25
Fal) i EE BRHEEd 126 BmEEd 117 BREEd R1.6.21
*al) Lk =x1R BmHEEd 120 BmHEEd 108 BmEEd R1.6.18
Fal) i il BmHEY | 100 RHEY 100 BHEEd R1.6.25
Fal) Fig H = BmHEEY | 100 RHEd | 100 B3 R1.6.26
Fayl) iti FH =¥ BmHEtEd 100 mHt9 | 100 BREtEd R1.6.26
Farl) i H =¥ BmHEEd 100 BmHEtEd 100 BREtEd R1.6.27
Fal) itss] REtE BmHEEd 100 BmHEEd 100 BREEd R1.6.10
*al) Gies] ERaL BmHEEd 100 BmHEEd 100 BmEEd R1.6.13
Fal) i RiE BmHEYT | 100 RHEY 100 BHEEd R1.6.21
Fal) i RiE BmHEEY | 100 RHEd | 100 B3 R1.6.25
Fal) i H RH BmHEtEd 100 R3] 100 BREtd R1.6.25
Farl) i H RH BmHEEd 100 BmHEtEd 100 BREtEd R1.6.25
Fal) itss] RH BmHEEd 100 BmHEtEd 100 B R1.6.25
Faryl) itss] RH BRHEEd 100 BmHEEd 100 BmEEd R1.6.25
Fanl il RH BRHEEd3 100 RHEY| 100 BRHEEd R1.6.28
Fal) Fr H RH BRHEYT | 100 RHEd | 100 BRHEEd R1.6.28
Fal) Fig H [N BmHEEY | 100 RHEd | 100 B3 R1.6.14
Fal) i H [N BmHEtEd 100 RHt9 | 100 BREtEd R1.6.18
Farl) itas] N BmHEEd 100 BmHEtEd 100 B R1.6.20
Fayl) itas] N BmHEEd 100 BmHEEd 100 BmEEd R1.6.21
Fanl i N BHEEY | 100 RHEY| 100 BmEEd R1.6.25
Fal) i Fi BRHET | 121 RHEd | 109 BREEd R1.6.5
Fal) Fig H Fi BRHEY 100 RHEd | 100 B3 R1.6.13
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Fal) Fia H Fi BmHEEY | 100 RHEd | 100 B3 R1.6.19
Fal) iti FH i BmHEtEd 100 mHt9 | 100 BREtEd R1.6.20
Fayl) itas] it: BmHEHEd 100 BmHEtEd 100 BREtEd R1.6.25
Fayl) itss] it: BmHEEd 100 BmHEEd 100 BREEd R1.6.25
Fanl IMNET INE BRHEEd3 100 RHEY 100 BRHEEd R1.6.10
*anl INEST INE BRHEY | 100 RHEd | 100 BRHEEd R1.6.12
Fal INEST INE BmHEY | 100 RHEd | 100 B3 R1.6.12
Fal) IMET INE BmHEtEd 100 RHt9 | 100 BREtd R1.6.13
Xayl) IMET INE BmHEtEd 100 BmHEtEd 100 BREtEd R1.6.17
Xal) IMET INE BmHEEd 100 BmHEEd 100 BREEd R1.6.17
*al) INMEST INE BmHEEd 100 BmHEEd 100 BREEd R1.6.18
Fanl INET INE BmHEY | 100 RHEY 100 BREEd R1.6.19
Fanl INEST INE BRHEY | 100 RHEd | 100 B3 R1.6.20
Fal INEST INE BmHEEY | 100 RHEd | 100 B3 R1.6.20
Fal) IMET INE BmHEtEd 100 mHt9 | 100 BREtEd R1.6.21
Xayl) IMET INE BmHEEd 100 BmHEtEd 100 BREtEd R1.6.21
Fayl IMEST INE BmHEEd 100 BmHEEd 100 BmEEd R1.6.21
Fanl INET INE BHEY | 100 RHEY 100 BRHEEd R1.6.24
Fanl INEST INE BHEY | 100 RHEd | 100 B3 R1.6.24
Fal IMEST 15 H BmHEEY | 100 RHEd | 100 B3 R1.6.18
Fal) IMET 15 H BmHEtEd 118 Rt 109 BREtEd R1.6.21
Xayl) IMET 5 H BmHEEd 100 BmHEtEd 100 BEtEd R1.6.25
Fal) IMET 15 H BmHEEd 100 BmHEEd 100 BREEd R1.6.27
*al) IMEST 15 H BmHEEd 100 BmHEEd 100 B9 R1.6.27
Fanl IMEST iz BmHEEY | 100 RHEY 100 BRHEEd R1.6.6
Fal IMEST iz BmHEEY | 100 RHEd | 100 B3 R1.6.27
Fal) IMET PR BmHEtEd 100 RHt9 | 100 BREtd R1.6.3
Xary) IMET I BmEEd| 117 mHtE9 | 105 BREtEd R1.6.10
Xary!) IMET Rk BmHEEd 100 BmHEEd 100 BREEd R1.6.10
*ary!) IMEST ST BmHEEd 100 BmHEEd 100 BREEd R1.6.17
Fanl IMNET ST BmHEEYT | 123 RHEY] 112 BREEd R1.6.27
Fal) IMEST I BHEES] 100 RHEEI | 100 BREEYT R1.6.28
Xayl {Z—+#H 1ZHH BHEEd 10.0 29 10.0 BRHEEY R1.6.13
Fal) Z#H ZHH BmHEEd 100 R3] 100 BREtEd R1.6.13
Fal) Z#H —HH BmHEEd 100 BmHEtEd 100 BmEtEd R1.6.13
Fal) Z#H —#HH BmHEEd 100 BmHEEd 100 BREEd R1.6.14
*al) Z#H Z—#HH BmHEEd 100 BmHEEd 100 BmEEd R1.6.24
Fanl —HH —HH BmHEY | 100 RHEY 100 BHEEd R1.6.24
Fal Z#H —HHA BmHEEY | 100 RHEd | 100 B3 R1.6.24
Fal) —#H —HH BmHEtEd 100 mHt9 | 100 BREtEd R1.6.24
Farl) —#H Z#HH BmHEEd 100 BmHEtEd 100 BREtEd R1.6.25
Fal) Z#H —#HH BmHEEd 100 BmHEEd 100 BREEd R1.6.26
*al) Z#H —#HH BmHEEd 100 BmHEEd 100 BmEEd R1.6.27
Fanl —HH —HH BmHEYT | 100 RHEY 100 BHEEd R1.6.27
Fanl —HH —HH BmHEEY | 100 RHEd | 100 B3 R1.6.27
a9 {Z3HH 1Z3HH BHEI 100 RHEd| 100 BHEEd R1.6.28
Farl) —#H Bl BmEEd| 117 BmHEtEd| 106 BREtEd R1.6.24
Xal) KE H BmHEEd 100 BmHEtEd 100 B R1.6.24
Faryl) N E/VUEA | BHET ] 117 BmHEEd 107 BmEEd R1.6.10
Fanl N XE BRHEEd3 100 RHEY| 100 BRHEEd R1.6.28
Fal) KA STAE BRHEYT | 100 RHEd | 100 BRHEEd R1.6.21
Fal KA STAE BmHEEY | 100 RHEd | 100 B3 R1.6.24
Fal) £ 53 BmHEtEd 100 RHt9 | 100 BREtEd R1.6.19
Farl) KA 53 BmHEEd 100 BmHEtEd 100 B R1.6.20
Fayl) KA Sk BmHEEd 100 BmHEEd 100 BmEEd R1.6.21
Fal) KiB N:: BHEEY | 100 RHEY| 100 BmEEd R1.6.17
Fal) KA BE BHEY | 100 RHEd | 100 BREEd R1.6.13
Fal KA BE BRHEY 100 RHEd | 100 B3 R1.6.20
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Fal KA BE BmHEEY | 100 RHEd | 100 B3 R1.6.20
Fal) £ BE BmHEtEd 100 mHt9 | 100 BREtEd R1.6.24
Fayl) &8 BE BmHEHEd 100 BmHEtEd 100 BREtEd R1.6.26
Fayl) £ BE BmHEEd 100 BmHEEd 100 BREEd R1.6.28
Fal) KiB XA BRHEEd3 100 RHEY 100 BRHEEd R1.6.11
Fal) KA EH BRHEY | 100 RHEd | 100 BRHEEd R1.6.12
Fal KA fH BmHEY | 100 RHEd | 100 B3 R1.6.24
Fal) £ 1 H BmHEtEd 100 RHt9 | 100 BREtd R1.6.25
Farl) £ 1 H BmHEtEd 100 BmHEtEd 100 BREtEd R1.6.28
Xal) b=t SFE BmHEEd 118 BmHEEd 108 BREEd R1.6.24
Fal) b=t TR BmHEEd 100 BmHEEd 100 BREEd R1.6.24
Fal) =% SFE BmHEY | 100 RHEY 100 BREEd R1.6.26
Fal) =% £ H BRHEY | 100 RHEd | 100 B3 R1.6.17
Fal) =% H BmHEEY | 100 RHEd | 100 B3 R1.6.21
Fal) =i #H BmHEtEd 100 mHt9 | 100 BREtEd R1.6.27
Xayl) =i ¥&H BmHEEd 100 BmHEtEd 100 BREtEd R1.6.25
Fayl b=p. 8 H BmHEEd 100 BmHEEd 100 BmEEd R1.6.25
Fal) =% #ﬁﬂa BHEY | 100 RHEY 100 BRHEEd R1.6.27
Fal) =% BHEY | 100 RHEd | 100 B3 R1.6.24
Fal) =% jtm% BmHEEY | 100 RHEd | 100 B3 R1.6.24
Fayl) =i xiR BmHEtEd 100 R3] 100 BREtEd R1.6.3
Xayl) =i xiR BmHEEd 100 BmHEtEd 100 BEtEd R1.6.6
Fal) P=b. xiR BmHEEd 100 BmHEEd 100 BREEd R1.6.18
*al) b=b. xR BmHEEd 100 BmHEEd 100 B9 R1.6.18
Fal) f=b. xR BmHEEY | 100 RHEY 100 BRHEEd R1.6.19
Fal) =% %R BmHEEY | 100 RHEd | 100 B3 R1.6.24
Fayl) =i xiR BmHEtEd 100 RHt9 | 100 BREtd R1.6.26
Xayl) =i i H BmHEEd 100 R3] 100 BREtEd R1.6.17
Fal) =i puifss BmHEEd 100 BmHEEd 100 BREEd R1.6.19
Fal) b=t puifss BmHEEd 100 BmHEEd 100 BREEd R1.6.27
Fal) P=b. JetEH BmHEEY | 100 RHEY 100 BREEd R1.6.21
Fal) ZDith SERET BRHEY | 100 RHEd | 100 B3 R1.6.19
Fayl) ZDih XEFHR BmHEtEd 100 RHt9 | 100 BREtEd R1.6.27
J)—FE—X  [fEHA = BmHEEd 100 RHEd | 100 BREtEd R1.6.5
J)—E—X  [fEHA RtE BmHEEd 100 BmHEtEd 100 BmEtEd R1.6.6
H)—2E—X  [/MEST INE BEEd 117 BmHEEd 104 BREEd R1.6.6
H)— E—X  [/IMEST INE BmHEEd 120 BmHEEd| 107 BmEEd R1.6.6
H)—E—X  [IMEST I BRHEET | 122 RHEY] 111 BHEEd R1.6.7
HF)— F—2  [{Z#HHA —HHA BmHEEY | 100 RHEd | 100 B3 R1.6.4
g)—FE—2  |EB H BHEEY | 100 RHEd | 100 BRHEY R1.6.3
J)— E—RX |Ei# £ H BmHEEd 100 BmHEtEd 100 BREtEd R1.6.3
a) ¥ — b=t £ H BmHEEd 100 BmHEEd 100 BREEd R1.6.25
HH =% xR BmHEEd 100 BmHEEd 100 BmEEd R1.6.10
4 =% iR BmHEYT | 100 RHEY 100 BHEEd R1.6.25
R JEE BiA)Il BmHEEY | 100 RHEd | 100 B3 R1.6.17
YA EH B E)I BmHEtEd 100 R3] 100 BREtd R1.6.25
YA JEHE EE BmHEEd 100 BmHEtEd 100 BREtEd R1.6.5
YA IMET INE BmHEEd 100 BmHEtEd 100 B R1.6.6
HXATY IMET INE BRHEEd 100 BmHEEd 100 BmEEd R1.6.10
R IMEST INE BRHEEd3 100 RHEY| 100 BRHEEd R1.6.21
PR Pr D IMETT INE BRHEYT | 100 RHEd | 100 BRHEEd R1.6.24
AT IMET INE BmHEEY | 100 RHEd | 100 B3 R1.6.25
YA IMET INE BmHEtEd 100 RHt9 | 100 BREtEd R1.6.26
YA IMET INE BmHEEd 100 BmHEtEd 100 B R1.6.26
XAy IMET INE BmHEEd 100 BmHEEd 100 BmEEd R1.6.28
PR PY D IMEST INE BHEEY | 100 RHEY| 100 BmEEd R1.6.28
PR Pr D IMNET 15 H BHEY | 100 RHEd | 100 BREEd R1.6.17
RO IMET 15 H BRHEY 100 RHEd | 100 B3 R1.6.24
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AT IMET 15 H BmHEEY | 100 RHEd | 100 B3 R1.6.25
YA IMET 15 H BmHEtEd 100 mHt9 | 100 BREtEd R1.6.26
Y IRY =i ¥&H BmHEHEd 100 BmHEtEd 100 BREtEd R1.6.3
HYIURY P=b. i H BmHEEd 100 BmHEEd 100 BREEd R1.6.3
YoiauNE  |IMET 17 BmHEEd 118 RHEY ] 107 BRHEEd R1.6.18
HriannE |RA KB BRHEY | 100 RHEd | 100 BRHEEd R1.6.6
URDASY | BB i BmHEY | 100 RHEd | 100 B3 R1.6.26
AyF—= JEH FHE BmHEtEd 100 RHt9 | 100 BREtd R1.6.26
Ayd—= i #E BREEd 121 BmHEtEd 108 BREtEd R1.6.26
AyF—= IMET 1EH BmHEEd 100 BmHEEd 100 BREEd R1.6.19
AyF—= Z3#H Bl BmEEd 117 BmHEEd| 106 BREEd R1.6.3
AyF—= ZHH bzl BmHEY | 100 RHEY 100 BREEd R1.6.3
Ayd—= KK Ho BmHEHEYT 113 RHEd | 104 B3 R1.6.5
Ayd—= KB 1 H BmHEEY | 100 RHEd | 100 B3 R1.6.19
AyFd—= =i ¥&H BmHEtEd 100 mHt9 | 100 BREtEd R1.6.11
Ayd—= =i ¥&H BmHEEd 100 BmHEtEd 100 BREtEd R1.6.25
AyF—= b=p. X BmHEEd 100 BmHEEd 100 BmEEd R1.6.18
AyF—= =% HH BHEY | 100 RHEY 100 BRHEEd R1.6.26
AFvHIUERY |JEH EE BHEY | 100 RHEd | 100 B3 R1.6.11
AFvHIURY [IMET I BmHEEY | 100 RHEd | 100 B3 R1.6.10
AFyIIVERY |JEH EE BmHEtEd 100 R3] 100 BREtEd R1.6.6
AFyIIURY {“HHEA Z#HH BmHEEd 100 BmHEtEd 100 BEtEd R1.6.5
AFvITIURY B e H BmHEEd 100 BmHEEd 100 BREEd R1.6.12
AFVvIIVEY |5# HH BmHEEd 100 BmHEEd 100 B9 R1.6.4
= JEH BiA)I BRHET | 121 RHEY ] 111 BRHEEd R1.6.11
r<k JEE #0H BmHEEY | 100 RHEd | 100 B3 R1.6.10
s i AEIR BmHEEd 116 RHt9 | 108 BREtd R1.6.3
k< h G e BmEEd| 127 RHEd | 115 BREtEd R1.6.27
s s Ex1BE BREEd 117 BmHEEd| 105 BREEd R1.6.3
rTk itHss] R R BmHEEd 100 BmHEEd 100 BREEd R1.6.26
= IMETT 1EH BmHEEY | 100 RHEY 100 BREEd R1.6.17
r< bk IMNETT iz BRHEET | 118 RHEd | 107 B3 R1.6.4
s IMET pr BmHEtEd 120 Rt 107 BREtEd R1.6.4
s IMET b BmHEEd 120 Rt 107 BREtEd R1.6.26
s IMET b BmHEEd 125 BmEEd 114 BmEtEd R1.6.26
s Z#H —#HH BmHEEd 100 BmHEEd 100 BREEd R1.6.5
~Tk Z#H Z—#HH BmHEEd 100 BmHEEd 100 BmEEd R1.6.14
= —HH —HH BmHEY | 100 RHEY 100 BHEEd R1.6.24
k< ZHH 1—HH BHEJ! 100 RHEE3 100 BHEd R1.6.26
s {Z3HH 1Z3HH BHEI 100 RHEd| 100 BRHEEd R1.6.26
s —#H Z#HH BmHEEd 100 BmHEtEd 100 BREtEd R1.6.28
s ] SIAE BmHEEd 134 BmHEEd| 125 BREEd R1.6.10
s KA SIAE BmHEEd 100 BmHEEd 100 BmEEd R1.6.12
r< bk KiB STAE BmHEYT | 100 RHEY 100 BHEEd R1.6.28
s KA BiE BmHEEY | 100 RHEd | 100 B3 R1.6.11
s e BE BmHEtEd 100 R3] 100 BREtd R1.6.11
s ] BE BmHEEd 100 BmHEtEd 100 BREtEd R1.6.21
r<k KA X HE BmHEEd 100 BmHEtEd 100 B R1.6.19
s KA A BRHEEd 100 BmHEEd 100 BmEEd R1.6.26
r< bk =% = H BmHEEY | 100 RHEY| 100 BRHEEd R1.6.12
r< bk =% B BRHEYT | 100 RHEd | 100 BRHEEd R1.6.28
N =% B BmHEEY | 100 RHEd | 100 B3 R1.6.28
s =i KAR BmHEtEd 100 RHt9 | 100 BREtEd R1.6.13
s Z D4 iR AT BREEd 117 BmHEEd| 106 B R1.6.25
~Tk Z D4 FERHET BREEd 117 BmHEEd| 106 BmEEd R1.6.25
+X ;EE EE BHEEY | 100 RHEY| 100 BmEEd R1.6.17
F R JEE EE BHEY | 100 RHEd | 100 BREEd R1.6.20
FR A% AERE BRHEEY 120 RHEd | 109 B3 R1.6.4
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EEYEICEITAMSMYEB SR ERER [ Hx(RxH) ]
SHTFEHBIES
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o RER A B E B B 7EfE B E B ——
" g | FBP | poni13a) | (evmat37) |esvLagi| MER
BRHERIE RHERIE

FR A% RH BRHET | 121 RHEd | 11.0 B3 R1.6.12
+R i KH BmHEEd 120 Rt 110 BREtEd R1.6.18
+R s =B BmHEEd 123 BmHEEd 110 BREtEd R1.6.21
+R i Ex1E BmHEEd 123 BmHEEd 112 BREEd R1.6.20
+X i i B9 152 RHEY| 140 BRHEEd R1.6.20
FR Fr H RiE BRHEY | 100 RHEd | 100 BRHEEd R1.6.25
FR Fia H RH BmHEY | 100 RHEd | 100 B3 R1.6.18
+R itas] RH BmHEtEd 100 RHt9 | 100 BREtd R1.6.19
+R itas] RH BmHEtEd 125 BmHEtEd| 113 BREtEd R1.6.20
+R IMET INE BmHEEd 100 BmHEEd 100 BREEd R1.6.19
TR Z3#H —#HH BmHEEd 100 BmHEEd 100 BREEd R1.6.18
+R ZHH —HHA BmHEY | 100 RHEY 100 BREEd R1.6.25
FR —HH —HHA BRHEY | 100 RHEd | 100 B3 R1.6.28
FR —HH ZHH BmHEEY | 100 RHEd | 100 B3 R1.6.28
TR =3 H Bl BmHEtEd 100 mHt9 | 100 BREtEd R1.6.27
+R KK /IMEH BREEd 121 BmHEEd 110 BREtEd R1.6.10
TR KA SITE BmHEEd 100 BmHEEd 100 BmEEd R1.6.21
+R KiB KB BHEY | 100 RHEY 100 BRHEEd R1.6.28
FR KiB Y53 BHEY | 100 RHEd | 100 B3 R1.6.14
F+R KA Ex BmHEEY | 100 RHEd | 100 B3 R1.6.18
+R £ NS BmHEtEd 100 R3] 100 BREtEd R1.6.19
+R £ BE BmHEEd 100 BmHEtEd 100 BEtEd R1.6.10
FR e BE BmHEEd 100 BmHEEd 100 BREEd R1.6.14
+X £ BE BmHEEd 100 BmHEEd 100 B9 R1.6.18
+R KiB HE BmHEEY | 100 RHEY 100 BRHEEd R1.6.19
+ R KA (EE) BHEEJ! 100 RHEE3 | 100 BREEY R1.6.19
TR &8 BE BmHEtEd 100 RHt9 | 100 BREtd R1.6.20
TR £ BE BmHEEd 100 R3] 100 BREtEd R1.6.24
+R e BE BmHEEd 100 BmHEEd 100 BREEd R1.6.24
+X £ ®E BmHEEd 100 BmHEEd 100 BREEd R1.6.26
+R KiB HE BmHEEY | 100 RHEY 100 BREEd R1.6.26
+ R KA (EE) BHEJ! 100 RHEEI | 100 BREEYT R1.6.26
TR £ X HE BmHEtEd 100 RHt9 | 100 BREtEd R1.6.14
TR £ K HE BmHEEd 100 R3] 100 BREtEd R1.6.28
+R £ R I BmHEEd 100 BmHEtEd 100 BmEtEd R1.6.10
TR KA R 15 BmHEEd 100 BmHEEd 100 BREEd R1.6.21
+X KA b A BmHEEd 100 BmHEEd 100 BmEEd R1.6.27
F R £ H#H BEEI] 100 RHEEI | 100 BREEY R1.6.28
+R R4 P& A BHEYI! 100 RHEE3 100 BHEd R1.6.18
TR =i ¥ H BmHEtEd 100 mHt9 | 100 BREtEd R1.6.20
TR =i ¥&H BmHEEd 100 BmHEtEd 100 BREtEd R1.6.25
TR b=t 8 H BmHEEd 100 BmHEEd 100 BREEd R1.6.26
FX b=t KAR BmHEEd 100 BmHEEd 100 BmEEd R1.6.13
+X =% AAR BmHEYT | 100 RHEY 100 BHEEd R1.6.17
FR =% AAR BmHEEY | 100 RHEd | 100 B3 R1.6.27
TR =i RAAR BmHEtEd 100 R3] 100 BREtd R1.6.27
TR =i i H BmHEEd 100 BmHEtEd 100 BREtEd R1.6.18
+R =i i H BmHEEd 100 BmHEtEd 100 B R1.6.19
E—<> JEH EE BRHEEd 100 BmHEEd 100 BmEEd R1.6.7
E—<> il RH BRHEEd3 100 RHEY| 100 BRHEEd R1.6.14
F—<> Fr H i BmHEYT | 123 RHEd | 11.0 BRHEEd R1.6.26
E—<> iB STAE BmHEEY | 100 RHEd | 100 B3 R1.6.17
EF—<> A SITE BmHEtEd 100 RHt9 | 100 BREtEd R1.6.25
E—<> KA £ BmHEEd 100 BmHEtEd 100 B R1.6.19
E—<> KA K HEE BmHEEd 100 BmHEEd 100 BmEEd R1.6.28
E—<> KiB EH BHEEY | 100 RHEY| 100 BmEEd R1.6.24
E—<> KiB t&EH BHEY | 100 RHEd | 100 BREEd R1.6.27
E—<> a2 i BRHEY 100 RHEd | 100 B3 R1.6.18
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A0 [HmA SAHE | mHEd| 125 BHEY| 112 BHEET R1.6.21
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EEYEICEITAMSMYEB SR ERER [ B (EXH) ]
SHTEG BBIER
(BERL: AL JL/kg)
o RER A B E B B 7EfE B E B ——
ZE shigg | R | b 2134) RUHL137) | (kemasEm| MEE
BRHERIE RHERIE

FARTSUh  [CHEH B BmHEEY | 100 RHEd | 100 BREtEd R1.6.5
T AINSF £ BE BmHEtEd 100 mHt9 | 100 BREtEd R1.6.12
IORNDE JEHE BIEJI BmEEd 122 BmHEEd 111 BREtEd R1.6.28
ITJTNE i Ex1E BRHEEd 120 BmHEEd 109 BREEd R1.6.11
AAN =% SFE BRHEEd 122 RHEY ] 111 BRHEEd R1.6.27
FHheDFE EH Bl BRHEY | 100 RHEd | 100 BRHEEd R1.6.5
HhyI757— [HmA SAHRE | BEEd 118 RHEd | 105 B3 R1.6.19
Hh)I757— =3 H {Z3HH BHET| 124 RHEd|  11.0 BHEd R1.6.5
FrRyY JEHE EE BmHEtEd 100 BmHEtEd 100 BREtEd R1.6.4
FrAy A 71| BmHEEd 119 BmHEEd| 106 BREEd R1.6.10
FrRY s 7alil BmHEEd 119 BmHEEd| 105 BREEd R1.6.10
FrRY itk AER BHEHEY| 121 RHEEF| 11.0 BREEYT R1.6.13
TRy FH H RiE BRHEY | 100 RHEd | 100 B3 R1.6.10
FrRY ilse RiE BmHEEY | 100 RHEd | 100 B3 R1.6.10
FyRy FiE REtE BmHEtEd 100 mHt9 | 100 BREtEd R1.6.12
Fry itas] it: BmHEEd 100 BmHEtEd 100 BREtEd R1.6.10
Fry itse] i: BmHEEd 100 BmHEEd 100 BmEEd R1.6.20
FrRy #iH il BHEY! 100 RHEEI | 100 BREET R1.6.25
TRy INEST iz BRHEYT | 120 RHEd | 108 B3 R1.6.12
FrRy =3 H 1Z3HH BHEJ! 100 RHEHE3 | 100 BHEd R1.6.4
FrRyY PN /IMEE BmHEEd 120 Rt 109 BREtEd R1.6.20
FrRy £ SITE BmHEEd 100 BmHEtEd 100 BEtEd R1.6.5
Fry KA SIAE BmHEEd 100 BmHEEd 100 BREEd R1.6.12
FrRY £ £ BmHEEd 100 BmHEEd 100 B9 R1.6.20
FrRY £ 953 BEEI] 100 @HE9 ] 100 BHEEd R1.6.10
FrRy &8 1 H BEEI] 100 RHEE3 | 100 BREEY R1.6.6
FyRy £ 1 H BmHEtEd 100 RHt9 | 100 BREtd R1.6.6
FrRy £ 1 H BmHEEd 100 R3] 100 BREtEd R1.6.27
FrAy b=t £ H BmHEEd 100 BmHEEd 100 BREEd R1.6.12
FrRY b=t 8 H BmHEEd 100 BmHEEd 100 BREEd R1.6.17
TRy P=b. KAR B3 100 RHEY 100 BREEd R1.6.3
FrRy =% x; BRHE3] 100 RHEd | 100 BRHET R1.6.3
FyRy =i xiR BmHEtEd 100 RHt9 | 100 BREtEd R1.6.3
FrRY =i xiR BmHEEd 120 Rt 107 BREtEd R1.6.6
Xavs+ i xR BmHEEd 129 BmHEEd 120 BmEtEd R1.6.20
Xav+ & £ BmHEEd 100 BmHEEd 100 BREEd R1.6.14
oo o84 i 7alil BmHEEd 126 BmHEEd 114 BmEEd R1.6.25
g o84 INEST 17 BRHET| 124 RHEY] 111 BHEEd R1.6.24
JY—2LARX (AR =xR BmHEY | 130 RHET | 117 B3 R1.6.17
AR IMET INE BmEEd 121 Rt 111 BREtEd R1.6.17
70w3 =i JLtEH BmHEEd 100 BmHEtEd 100 BREtEd R1.6.17
avYyF i Ex1R BRHEEd 122 BmEEd 112 BREEd R1.6.20
avy+ IMEST T BRHEET 121 BmHEEd 109 BmEEd R1.6.24
a3y INEST 17 BmHEYT | 100 RHEY 100 BHEEd R1.6.25
a3y —HH Reall] BmHEEY | 100 RHEd | 100 B3 R1.6.21
avy+ =i #H BmHEtEd 100 R3] 100 BREtd R1.6.3
avYF =i X BmHEEd 100 BmHEtEd 100 BREtEd R1.6.25
H=——LA2X i xR BREEd| 127 BmHEEd| 116 B R1.6.17
H=—LAR itss] REtR BRHEEd 100 BmHEEd 100 BmEEd R1.6.12
HoFa i =x1R BRHEEd3 100 RHEY| 110 BRHEEd R1.6.17
YooY A JEH g BHEEI! 100 RHEE3 | 100 BREET R1.6.28
Y JEH F0H BmHEEY | 100 RHEd | 100 B3 R1.6.20
Y JEHE EE BmHEtEd 100 RHt9 | 100 BREtEd R1.6.6
Y i RER BmHEEd 123 BmEEd 114 B R1.6.13
Y i &H BmHEEd 124 BmHEEd 111 BmEEd R1.6.24
Y i B\ BRHEET | 122 RHEY | 111 BmEEd R1.6.17
Y i 1\ BRHEEYT | 122 RHEd | 109 BREEd R1.6.21
Y Fig H = BRHEY 100 RHEd | 100 BREtEd R1.6.26
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EEYEICEITAMSMYEB SR ERER [ B (EXH) ]
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o RER S BIEE B 7EfE BIEE ——
ZE shigg | R | b 2134) RUHL137) | (kemasEm| MEE
BRHERIE RHERIE

Y i BREE BEEI] 100 RHEEI 100 BREET R1.6.11
Y iti FH RH BmHEtEd 100 mHt9 | 100 BREtEd R1.6.18
Y itas] it: BmHEHEd 100 BmHEtEd 100 BREtEd R1.6.17
Y itss] it: BRHEEd 120 BmEEd 111 BREEd R1.6.24
Y INEST 17 BRHEEd3 100 RHEY 100 BRHEEd R1.6.10
Y IMEST 12 BHEHEY| 121 RHEET 11.2 BREET R1.6.26
Y IMEST ST BHEET| 122 RHEEI 11.0 BHEd R1.6.14
Y IMET I BmHEtEd 123 Rt 112 BREtd R1.6.17
Y Z#H Z#HH BmHEtEd 100 BmHEtEd 100 BREtEd R1.6.18
Y Z#H Z#HH BmHEEd 100 BmHEEd 100 BREEd R1.6.18
Y Z3#H Bl BmHEEd 100 BmHEEd 100 BREEd R1.6.21
Y £ K25 BEEI] 100 RHEEI | 100 BREEYT R1.6.26
U R4 P& A BHEJ! 100 RHEE3 | 100 BREEY R1.6.5
Y =% H BmHEEY | 100 RHEd | 100 B3 R1.6.3
Y =i #H BmHEtEd 100 mHt9 | 100 BREtEd R1.6.12
Y =i xiR BmHEEd 100 BmHEtEd 100 BREtEd R1.6.10
Y b=t xR BmHEEd 100 BmHEEd 100 BmEEd R1.6.28
avxy ZHH hizall] BHEY | 100 RHEY 100 BRHEEd R1.6.5
a¥xy ZDith SO BHEEI| 123 RHEd | 11.3 B3 R1.6.25
AT4v7t=3—)L| = 3#f &R BEEI] 100 2HEd| 100 BREET R1.6.3
FAaVE =i SEE BmHEEd 119 Rt 109 BREtEd R1.6.25
YILLSY X JEH BIEJI BmHEEd 120 BmHEtEd| 109 BEtEd R1.6.10
VILLSHY X it 74l BREEd 121 BmEEd 112 BREEd R1.6.13
VILLSHX Gitdas] N BRHEEd 121 BmHEEd| 109 B9 R1.6.24
YILLZY X IMEST 12 BHEY| 123 RHEET | 114 BREET R1.6.27
VILLSH X =% STE BmHEEYT 119 RHEd | 108 B3 R1.6.27
VILLSY X =i #H BmHEtEd 100 RHt9 | 100 BREtd R1.6.17
VILLSHY X =i #H BmHEEd 100 R3] 100 BREtEd R1.6.19
VILLSHY X b=t xiR BmHEEd 100 BmHEEd 100 BREEd R1.6.7
YILLSY X b=t xR BmHEEd 100 BmHEEd 100 BREEd R1.6.27
VILLSH X P=b. Tt H BHEEI| 100 2HE9 ] 100 BHEEd R1.6.26
=3 Fr H Wix BRHET| 124 RHEd | 11.3 B3 R1.6.28
=3 =i H BmHEtEd 100 RHt9 | 100 BREtEd R1.6.13
=3 =i 7B BmHEEd 100 R3] 100 BREtEd R1.6.11
=3 =i RAAR BmHEtEd 123 BmHEEd| 113 BmEtEd R1.6.4
=3 =i xR BmHEEd 100 BmHEEd 100 BREEd R1.6.12
=3 b=b. xiR BmHEEd 100 BmHEEd 100 BmEEd R1.6.27
NgY A INEST INE BRHET | 121 RHEY| 108 BHEEd R1.6.18
NgHA KA STAE BmHEEY | 100 RHEd | 100 B3 R1.6.24
NgYA £ K25 BmHEtEd 100 mHt9 | 100 BREtEd R1.6.10
NgYA £ 1EH BmHEEd 100 BmHEtEd 100 BREtEd R1.6.6
INIHA ] 1 H BmHEEd| 137 BmHEEd| 123 BREEd R1.6.10
Nt) N E/ONUA | BHET] 121 BmHEEd 110 BmEEd R1.6.27
INt) =% B BEEI] 100 2HEE9 ] 100 BEEd R1.6.18
EA3I S G =xR BmHEY | 133 RHEd | 118 B3 R1.6.13
EDDE i &8 B3 R1.6.27
EDDE it B BREtEd R1.6.27
JOyal— it 7a 1| BRHEEd 122 BmEEd 111 B R1.6.24
JOyal— ik KER BRHEEd 120 BmHEEd 108 BmEEd R1.6.10
JOyal— A% #E BmHEEd 151 RHEY | 136 BRHEEd R1.6.6
J0Oyal— A% =xR BRHEHET | 140 RHET | 126 BRHEEd R1.6.3
JOyal)— Fig H RiE BmHEEY | 100 RHEd | 100 B3 R1.6.10
JOyal)— i H il BmHEtEd 100 RHt9 | 100 BREtEd R1.6.10
JOyal— itas] it: BREEd 121 BmHEtEd 108 B R1.6.11
JOyal— —#H Bl BmHEEd 100 BmHEEd 100 BmEEd R1.6.14
JAyal)— KA ;LiE BHEEYI 100 RHEEI| 100 BREET R1.6.10
Jawyal)— £ (e BHEI! 100 RHEE3 | 100 BREET R1.6.3
JOyal)— KA BE BRHEY 100 RHEd | 100 B3 R1.6.6
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JOyal)— KA LHEF BmHEEY | 100 RHEd | 100 B3 R1.6.3
JOyal)— £ 1 H BmHEtEd 100 mHt9 | 100 BREtEd R1.6.6
JOyal)— Z N SRR BmHEEd 120 BmHEtEd| 107 BREtEd R1.6.18
JOyal— P=b. i H BmHEEd 100 BmHEEd 100 BREEd R1.6.10
RHLI VY FiH Fi BmHEY | 100 RHEY 100 BRHEEd R1.6.5
roLI YD IMETT INE BRHET| 124 RHEd | 11.3 BRHEEd R1.6.3
RoLI Yy IMET I BHET | 127 RHEd | 115 B3 R1.6.17
S=N\IYA =i ¥eH BmHEtEd 100 RHt9 | 100 BREtd R1.6.17
EOANAY JEH BIEJI BREEd| 127 BmHEEd| 115 BREtEd R1.6.10
EOANAY JEHE EE BmHEEd 100 BmHEEd 100 BREEd R1.6.6
EOANAY iss] [N BmHEEd 129 BmHEEd 118 BREEd R1.6.13
EOANALY i H i BRHEET | 122 RHEY] 112 BREEd R1.6.17
EOANALY —HH Rall] BRHEET ] 172 RHtEd | 158 B3 R1.6.21
EOANY Z#H B BmHEEY | 100 RHEd | 100 B3 R1.6.21
EOANAY =i #H BmHEtEd 100 mHt9 | 100 BREtEd R1.6.10
EONAY =i £ H BmHEEd 100 BmHEtEd 100 BREtEd R1.6.19
J—JL AR b=t B BmHEEd 100 BmHEEd 100 BmEEd R1.6.13
LAX i H RtE BHEY | 100 RHEY 100 BRHEEd R1.6.12
LAX IMNET iz BRHEEYT 118 RHEd | 109 B3 R1.6.4
LAX IMET I BRHEYT| 114 RHEd | 103 B3 R1.6.10
L2X =i SEE BmHEEd 115 mHtE9 | 105 BREtEd R1.6.18
L2X =i #H BmHEEd 100 BmHEtEd 100 BEtEd R1.6.19
L2X b=t & H BmHEEd 100 BmHEEd 100 BREEd R1.6.3
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EEYEICEITAMSMYEB SR ERER [ FE (EXEH) ]
SHTFEHBIES
(BERL: AL JL/kg)

o 1REY 18 = IR B HIE 8 IR B N—
& B siig | R | pomi34) | (RUMLA187)  |(RieaaEm| NER
BHERE BHESRE

IS raOyk JEH EE BHEd | 100 BHEE3] 100 BHEd R1.6.14
AIRE IBEfA___ [ EAHE BHEET R1.6.5
AIR¥ EGHE AR BmHEd R1.6.5
AIRE B R AR BHEd R1.6.5
BIRE EGdz F AR BHEEd R1.6.5
BIPE BN FHEE BEET | 121 xHEEd | 108 BrHed R1.6.3
AIRE [HmA VAN 33 BmHEEd 118 RHEd| 108 BHEd R1.6.11
AT B A AN 33 BEEY 120 RHEY 109 BHEET R1.6.11
AIRFE JEH F0H BmHEd 100 BHEd | 100 BHtd R1.6.7
AIRFE JEH F0H BmHEd | 100 BmHEd | 100 B9 R1.6.14
AIRFE JEH F0H BmEEd] 119 BmHtEd | 108 BEtd R1.6.27
AIRE EH EE BEEY 100 RHEEY 100 BHEEd R1.6.17
e T T LR | BHEEd] 117 B3] 107 BmEtd R1.6.12
AIARE i 78| BmEEd 117 RHEY 108 BHEEYT R1.6.19
AIFX LiiEeS KH BHEd 118 EHEd | 107 BHEd R1.6.3
AIRFE L =H BmHEEd 117 BmHeEd| 107 B9 R1.6.3
BI4X LiE"3 KH BHEEY 120 BHEEY 109 BHEEd R1.6.6
AT AT FiE A= BHEd] 119 RHEEd 107 Bmtd R1.6.21
RIAE e == BHEY] 118 RHEd | 109 BRHET R1.6.27
AILT L &1 BHEd] 120 e 11.0 BEtEd R1.6.28
AIFX PiiEeS EEic BHEY 116 EHtEd | 106 BHEd R1.6.14
AI4E FiiEeS SR BHEY 121 BHEEY 110 BHEd R1.6.18
AIRX i FH RIlR BHEY 100 BHEEd 100 BHEd R1.6.21
AIRX i FH i BHEEY 100 BHEEY 100 BHEEd R1.6.10
AIAT Fig H Fi BHE3] 100 RHEEd] 100 BEtd R1.6.26
AILT INEST 15 | BEEd ] 100 B3] 100 BEtEd R1.6.21
BIRE INEST 12 BmHEd | 115 RHEE3] 104 BrREed R1.6.3
BT RE INEST 12 BmHEd 124 EHEd 114 BHtd R1.6.27
AIRX IMET THE BHEd 136 BHEEd 124 BHEd R1.6.17
AIRFE IMETT IHE BmHEd 123 w9 107 BHtd R1.6.24
AT RE I—H#H {—HH BHE3] 100 RHEEd] 100 BEtd R1.6.4
e I—H#H {—HH BEEd3 100 B3] 100 BEtd R1.6.20
AIAT —HH —HH BHEY] 119 EHtEd | 108 BHed R1.6.28
BIFX ZH#H =3 H BHEY 113 EHEd| 101 BHEd R1.6.28
AIRFE ZH#H hizall] BmHEd | 100 BmHEd | 100 B9 R1.6.4
AIRFE ZH#H bizall BmHEd 100 BmHtEd | 100 BHtEd R1.6.4
AIRE N /IMEH BHEEd 100 BHEEY 100 BHEEd R1.6.25
AIRE £z iTIE BEEY] 100 RHEEY 100 BHEEd R1.6.12
AI R £i4 iTIE BmHEEd 100 RHEY 100 BHEEd R1.6.25
AIRF K8 Sk BmHEd 100 94 100 B9 R1.6.11
AIRE £ 1 H BHEY 104 BHEEY 100 BHEd R1.6.10
BI4E =01 FE BmHEd 100 BHtEd | 100 BHtEd R1.6.7
AIRE Pt SEE BHEEd 114 BHEEd 106 BHEEd R1.6.18
AIAT =il SFE BHE3] 100 RHEE3] 100 BEtd R1.6.18
BATRE PE ] =) BEtEd ] 100 B3] 100 BEtEd R1.6.20
AIRE P=r. 2 H BHEEY] 100 RHEY 100 BHEEYT R1.6.5
BI4E =1 HH BHEY 100 BHEEY 100 BHEd R1.6.6
BI4E =0 1 H BmHEd | 100 BHEd | 100 BmHed R1.6.7
BIAE =1 1 H BmHEd 100 ‘et 100 BHtd R1.6.10
AT AT a5iE H#EH BHET] 100 RHEE3d ] 100 BEtd R1.6.3
e T FE ] & [ BmHtEd ] 100 B3] 100 BmEtd R1.6.10
AIRE =23 ¥ H BmHEEd 100 RHEY] 100 BHEd R1.6.25
AIARE =i H#EH BHEEd] 100 RHEY 100 BHed R1.6.27
BI4E =1 E BmHEd | 100 BHEd | 100 BHed R1.6.24
BIFX =0 xR BmHEEd 100 BmEtEd | 100 BEtd R1.6.12
AIRE =i EiR BmEEY] 100 RHEEY 100 BHEEd R1.6.20
AT RE FE Pl BHEHEY 100 RHEEY 100 BHEEd R1.6.10
-V = BTN 7EF BHET | 121 REE3 100 BHEd R1.6.13
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EEYEICEITAMSMYEB SR ERER [ FE (EXEH) ]
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o RER A B E B B 7EfE B E B ——
" g | FBP | poni13a) | (evmat37) |esvLagi| MER
BRHERIE RHERIE

— =4 JEHE BIE I BEEI] 100 RHE9 ] 100 BREEY R1.6.4
- =4 JEH BT E)I BmHEtEd 100 mHt9 | 100 BREtEd R1.6.18
— =4 JEHE EE BmHEHEd 100 BmHEtEd 100 BREtEd R1.6.10
- =4 i 7a 1| BRHEEd 120 BmHEEd 109 BREEd R1.6.17
— =4 i KER BRHEEd 125 RHEY ] 111 BRHEEd R1.6.24
— =4 A% RH BmHEY | 135 RHEd | 120 BRHEEd R1.6.20
— =4 G B\ BmHEEYT 115 RHEd | 106 B3 R1.6.21
— =4 G &8 BmHEY| 134 RHEY | 120 BRHEY R1.6.27
- =4 i =2t B3 136 BmHEEd 124 BREtEd R1.6.14
— =4 itss] REtE BmHEEd 100 BmHEEd 100 BREEd R1.6.19
- =4 iss] i BmHEEd 124 BmHEeEd 113 BREEd R1.6.21
—>=y IMET 15 H BHEY! 100 RHEEI | 100 BREEYT R1.6.19
—> =4 IMNETT iz BRHET| 124 RHEd | 11.0 B3 R1.6.27
=9 IMEST ST BEET 119 REEI 107 BHEd R1.6.6
- =4 IMEST I BmHEtEd 100 mHt9 | 100 BREtEd R1.6.14
ey Z#H Z#HH BmHEEd 123 BmHEEd 110 BREtEd R1.6.19
- =4 Z3#H Bl BmHEEd 100 BmHEEd 100 BmEEd R1.6.5
—>=y KE /MEH BEEI] 100 RHEEI | 100 BREET R1.6.24
=y KA ;LB BHEEYI 100 RHEEI | 100 BREEY R1.6.5
—> =4 i LHEF BmHEEY | 100 RHEd | 100 B3 R1.6.24
- =4 =i SEE BmHEtEd 100 R3] 100 BREtEd R1.6.18
ey =i £ H BmHEEd 100 BmHEtEd 100 BEtEd R1.6.6
—>=4 P=b. £ H BmHEEd 100 BmHEEd 100 BREEd R1.6.21
- =4 b=b. xR BRHEEd 121 BmHEEd 108 B9 R1.6.25
- =4 f=b. puiifss BHEEI| 100 @HE9 ] 100 BHEEd R1.6.10
—>=4 =% JetEH BmHEEY | 100 RHEd | 100 B3 R1.6.14
T+ JEH H BmHEtEd 100 RHt9 | 100 BREtd R1.6.6
+F JEH EE BmHEEd 100 R3] 100 BREtEd R1.6.24
T+ itHlss] i BRHEEd 120 BmHEEd| 109 BREEd R1.6.17
T+ KA R 15 BmHEEd 100 BmHEEd 100 BREEd R1.6.20
¥ =% xR BHE3] 100 R3] 100 BRHET R1.6.25
Sa9hHEy N IMEH BRHEE3] 124 RHET | 11.2 BRHET R1.6.6
LSY X4 XY |iEH Ui BHEY | 100 RHEd | 100 BRHEY R1.6.10
LY XA |FiEHA if: BmHEEd 100 R3] 100 BREtEd R1.6.10
LY XA |FiEHA it: BmHEEd 100 BmHEtEd 100 BmEtEd R1.6.10
Zv¥an i KER BmHEEd 100 BmHEEd 100 BREEd R1.6.21
Zvy¥anw i RER BmHEEd 124 BmHEEd 112 BmEEd R1.6.24
Sv¥3n i Wix BRHEEYT | 120 RHEY] 107 BHEEd R1.6.3
Sv¥3n KA Ex BmHEEY | 100 RHEd | 100 B3 R1.6.20
Zvy¥an £ BE BmHEtEd 100 mHt9 | 100 BREtEd R1.6.11
Sv¥an £ 1EH BmHEEd 100 BmHEtEd 100 BREtEd R1.6.12
Zv¥an ] 1 H BmHEEd 100 BmHEEd 100 BREEd R1.6.14
Zvy¥ayw b=b. STE BmHEEd 100 BmHEEd 100 BmEEd R1.6.7
Sv¥3n =% i H BmHEY 100 BmHEEd 100 BHEEd R1.6.11
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EEYEICEITAMSMYEB SR ERER [ FE (R%EH) ]
SHTEHBIERD
(BRI JL/Kkg)

o RER S B E B B 7EfE B E B ——
ZE shigg | R | b 2134) RUHL137) | (kemasEm| MEE
BRHERIE RHERIE

Hho JEH miE I BmHEEYT | 116 RHEd | 106 B3 R1.6.12
hJ e FH =) mited 100 REd 100 BT R1.6.26
Ho itas] fiE BmHEEd 120 BmHEtEd| 109 BREtEd R1.6.11
Hho IMET 2 BmHEEd 100 BmHEEd 100 BREEd R1.6.25
Hho IMEST I BmHEEd 123 RHEY| 110 BRHEEd R1.6.6
= ) INEST 17 BRHEY | 100 RHEd | 100 BRHEEd R1.6.21
= ) IMEST iz BmHEY | 100 RHEd | 100 B3 R1.6.24
OXHAE [Hf A FH BREEYT 121 Rt 110 BREtd R1.6.25
SxHAE JEH BT EAI| BEET 100 [ BHEEF] 100 TR R16.13
OXHAE JEHE EE BmHEEd 100 BmHEEd 100 BREEd R1.6.13
OXHAE JEE EE BmHEEd 100 BmHEEd 100 BREEd R1.6.26
SyHAE i 8 BRHET | 121 RHEEY] 110 BREEd R1.6.19
Sy HAE Gk =xR BRHEYT | 120 RHEd | 107 B3 R1.6.17
Sy HAE Fif i BRHET 121 RHEd | 11.0 B3 R1.6.24
OXHAE FiE REtE BmHEtEd 100 mHt9 | 100 BREtEd R1.6.7
X HAE itas] RH BmHEEd 123 BmHEEd 110 BREtEd R1.6.11
OXHAE itse] RH BmHEEd 118 BmHEEd| 106 BmEEd R1.6.11
Sy HAE i H i BHEY | 100 RHEY 100 BRHEEd R1.6.17
Sy HAE IMNET iz BRHEEYT 118 RHEd | 109 B3 R1.6.17
Sy HAE IMET iz BRHEET | 122 RHEd | 11.0 B3 R1.6.17
OXHAE IMET b BmHEEd 119 Rt 11.0 BREtEd R1.6.17
OXHAE IMET I BmEEd 122 BmHEtEd 108 BEtEd R1.6.10
OXHAE IMET ST BRHEEd 122 BmHEEd 109 BREEd R1.6.10
X HAE Z#H 1‘#53 BmHEEd 100 BmHEEd 100 B9 R1.6.20
SyHAE —HH Realll BmHEEY | 100 RHEY 100 BRHEEd R1.6.14
OXHAE EZ EE BHEEJ! 100 RHEE3 | 100 BREEY R1.6.14
v HAE KB BE BmHEEY | 100 RHEd | 100 BRHEY R1.6.21
OvHAE £ 1EH BmHEEd 100 R3] 100 BREtEd R1.6.12
X HAE =i STE BmHEEd 100 BmHEEd 100 BREEd R1.6.20
X HAE b=t £ H BmHEEd 100 BmHEEd 100 BREEd R1.6.3
SyHAE =% £ H BmHEEY | 100 RHEY 100 BREEd R1.6.12
OXHAE Per il #H BHEJ! 100 RHEEI | 100 BREEYT R1.6.18
v HAE =% & H BHEY | 100 RHEd | 100 BRHEY R1.6.4
OXHAE =i ¥&H BmHEEd 100 R3] 100 BREtEd R1.6.10
OXHAE =i ¥&H BmHEEd 100 BmHEtEd 100 BmEtEd R1.6.20
OXHAE b=t JIﬁEH BmHEEd 100 BmHEEd 100 BREEd R1.6.27
OXHAE b=t B BmHEEd 100 BmHEEd 100 BmEEd R1.6.11
Sy HAE =% iR BmHEY | 100 RHEY 100 BHEEd R1.6.12
Sy HAE =% %R BmHEEY | 100 RHEd | 100 B3 R1.6.17
OvHAE =i xiR BmHEtEd 100 mHt9 | 100 BREtEd R1.6.28
OXHAE =i xiR BmHEEd 100 BmHEtEd 100 BREtEd R1.6.28
OXHAE =i JetEH BmHEEd 100 BmHEEd 100 BREEd R1.6.12
X HAE b=t JetEH BmHEEd 100 BmHEEd 100 BmEEd R1.6.12
Sy HAE Z D SERET BREEI] 118 @HEd | 10.9 BEEd R1.6.18
Sy HAE ZDith SERET BHET | 127 RHEd | 11.3 B3 R1.6.24
A4y JEHE B E)I BmHEtEd 123 Rt 110 BREtd R1.6.12
=D JEH FH BmHEEd 100 BmHEtEd 100 BREtEd R1.6.17
=D JEHE EE BmHEEd 100 BmHEtEd 100 B R1.6.3
=D CiTE 71| BRHEEd 123 BmEEd 114 BmEEd R1.6.6
=P i =x1R BRHEEd 120 RHEY| 108 BRHEEd R1.6.3
=D INEST 17 BRHEYT | 100 RHEd | 100 BRHEEd R1.6.27
L= IMET I BHEEYT | 120 RHEd | 107 B3 R1.6.10
L= KK /IMEH B9 118 RHt9 | 108 BREtEd R1.6.25
=D N H BmHEEd 100 BmHEtEd 100 B R1.6.18
L= KA Sk BmHEEd 100 BmHEEd 100 BmEEd R1.6.10
=P KiB 1 H BRHEHET ] 141 RHEY| 130 BmEEd R1.6.12
=P =% & H BHEY | 100 RHEd | 100 BREEd R1.6.10
AL =i g H BEEF] 100 RHEd] 100 BEEd R1.6.10
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EEYEICEITAMSMYEB SR ERER [ FE (R%EH) ]
SHTFEHBIES
(BERL: AL JL/kg)

o RER A BIEE B 7EfE B E B ——
ZIE g | FREE | porn134) oHL137)  |(evmasEm | MER
BRHERIE RHERIE

A =% B BEEI] 100 RHE9 ] 100 BEEd R1.6.11
— Ty % &8 BHEY| 120 RHEd | 11.0 BRHEd R1.6.18
— oy itas] =il BmHEEd 100 BmHEtEd 100 BREtEd R1.6.21
— oy IMET 2 BmHEEd 100 BmHEEd 100 BREEd R1.6.4
-y INMEST 12 BHEY| 123 RHEEI| 109 BREET R1.6.18
=P INEST 12 BHEET| 122 @HE3 | 109 BRHEEd R1.6.19
— Ty INEST ST BEEI] 121 RHEd| 108 BREET R1.6.10
— oy —#HH Z#HH BmHEtEd 100 RHt9 | 100 BREtd R1.6.18
NYBEA4a [AER A BREtEd R1.6.18
NIYHFA43  |AER A BREEd R1.6.18
E—Y b=t e H BHEE3 100 BEEY] 100 BHEEd R1.6.17
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EEYEICEITAMSMYEB SR ERER ( REEE ]
SHTFEHBIES
(BERL: AL JL/kg)

o RER A B E B B 7EfE B E B ——
" g | FBP | poni13a) | (evmat37) |esvLagi| MER
BRHERIE RHERIE

7R G AT BHEEYT | 120 RHEd | 108 B3 R1.6.24
XA JEHE BIEJI BmHEtEd 100 mHt9 | 100 BREtEd R1.6.3
XA JEH BIEJI BmHEHEd 100 BmHEtEd 100 BREtEd R1.6.4
X i FH BmHEEd 100 BmHEEd 100 BREEd R1.6.11
XA JEE FH BRHEEd3 100 RHEY 100 BRHEEd R1.6.12
X JEM #0H BRHEY | 100 RHEd | 100 BRHEEd R1.6.13
X JEH F0H BmHEY | 100 RHEd | 100 B3 R1.6.14
XA JEH FHE BmHEtEd 100 RHt9 | 100 BREtd R1.6.18
XA JEH FHE BmHEtEd 100 BmHEtEd 100 BREtEd R1.6.19
X JEH FH BmHEEd 100 BmHEEd 100 BREEd R1.6.21
XA JEE FH BmHEEd 100 BmHEEd 100 BREEd R1.6.25
XA JEM FH BmHEY | 100 RHEY 100 BREEd R1.6.25
X JEH #0H BRHEY | 100 RHEd | 100 B3 R1.6.25
X EH EE BmHEEY | 100 RHEd | 100 B3 R1.6.3
A JEHE EE BmHEtEd 100 mHt9 | 100 BREtEd R1.6.12
XA JEHE EE BmHEEd 100 BmHEtEd 100 BREtEd R1.6.18
X JEE EE BmHEEd 100 BmHEEd 100 BmEEd R1.6.19
XA i FEILFERT | BRHEET 119 RHEY] 107 BRHEEd R1.6.12
X A% 7a)ll BRHEET | 122 RHEd | 11.0 B3 R1.6.6
X A% 71| BmHEEYT ] 119 RHEd | 109 B3 R1.6.21
XA i 71| BmHEEd 120 Rt 107 BREtEd R1.6.21
XA G RER BmHEEd 123 BmHEEd 110 BEtEd R1.6.13
X G KER BREEd 121 BmHEEd| 106 BREEd R1.6.19
XA i A BmHEEd 130 BmHEEd| 116 B9 R1.6.10
X i #E BRHEYT| 124 RHEY] 112 BRHEEd R1.6.3
X A% B\ BmHEEYT 119 RHEd | 108 B3 R1.6.3
% A% &8 BHEET| 123 EHE3 ] 11.3 B9 R1.6.10
X % B BmEEd 122 RHEY | 11.0 BREtEd R1.6.10
XA it #E BRHEEd 122 BmHEEd 110 BREEd R1.6.13
XA i B\ BRHEEd 122 BmHEEd| 109 BREEd R1.6.19
XA i #E BRHET | 121 RHEY] 110 BREEd R1.6.24
X A% B\ BRHET | 121 RHEd | 109 B3 R1.6.24
X itHas] REtE BmHEtEd 100 RHt9 | 100 BREtEd R1.6.13
XA IMET INE BmHEEd 100 R3] 100 BREtEd R1.6.12
X IMET INE BmHEEd 100 BmHEtEd 100 BmEtEd R1.6.19
XA IMET INE BmHEEd 100 BmHEEd 100 BREEd R1.6.20
XA IMET INE BmHEEd 100 BmHEEd 100 BmEEd R1.6.24
XA IMETT 15H BmHEY | 100 RHEY 100 BHEEd R1.6.17
oA INEST £ H BHEYI! 100 RHEE3 100 BHEd R1.6.18
XA IMET 15 H BmHEEd 120 Rt 109 BREtEd R1.6.21
A IMEIT b BmHEEd 100 BmHEtEd 100 BREtEd R1.6.3
XA IMET I BmHEEd 118 BmHEEd 108 BREEd R1.6.11
XA IMET I BmHEEd 100 BmHEEd 100 BmEEd R1.6.12
XA IMETT BRC BmHEYT | 100 RHEY 100 BHEEd R1.6.14
X IMET I BRHEEYT | 120 RHEd | 109 B3 R1.6.26
XA —#H —HH BmHEtEd 100 R3] 100 BREtd R1.6.7
A —#H Z#HH BmHEEd 100 BmHEtEd 100 BREtEd R1.6.20
XA Z#H Z#HH BmHEEd 100 BmHEtEd 100 B R1.6.20
XA —#H Bl BRHEEd 100 BmHEEd 100 BmEEd R1.6.14
XA N /IMEH BRHEEd3 100 RHEY| 100 BRHEEd R1.6.12
X N T/AUEA | BHEET 100 RHEd | 100 BRHEEd R1.6.13
XA KB A BRHET| 144 RHEd | 130 B3 R1.6.6
XA ] A BREEY R1.6.13
X KA £ BmHEEd 100 BmHEtEd 100 B R1.6.17
XA Pt £ BmHEEd 100 BmHEEd 100 BmEEd R1.6.17
XA KiB KB BmEEd R1.6.18
XA KA ;s BHEY | 100 RHEd | 100 BREEd R1.6.10
oA £iB ;s BHEI| 117 RHEEI | 109 BHEEd R1.6.18
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EEYEICEITAMSMYEB SR ERER ( REEE ]
SHTEHBIERD
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o RER S BIEE B 7EfE BIEE ——
" g | FBP | poni13a) | (evmat37) |esvLagi| MER
BRHERIE RHERIE

XA KA /e BmHEEY | 100 RHEd | 100 B3 R1.6.24
X E,’n’ BE M9 135 Rt 124 BREtEd R1.6.11
X =i SFE BmHEHEd 100 BmHEtEd 100 BREtEd R1.6.28
XA P=b. #H BmHEEd 100 BmHEEd 100 BREEd R1.6.5
XA P=%. ¥& H BRHEEd3 100 RHEY 100 BRHEEd R1.6.11
XA =% 2 H BRHEY | 100 RHEd | 100 BRHEEd R1.6.11
XA =% g H BmHEY | 100 RHEd | 100 B3 R1.6.26
X =i XiR BmHEtEd 100 RHt9 | 100 BREtd R1.6.11
XA =i xiR BmHEtEd 100 BmHEtEd 100 BREtEd R1.6.12
X =i xiR BmHEEd 100 BmHEEd 100 BREEd R1.6.12
XA b=b. xR BmHEEd 100 BmHEEd 100 BREEd R1.6.14
XA =% HH BmHEY | 100 RHEY 100 BREEd R1.6.19
i =i i H BEEI] 100 RHEE3 | 100 BREEY R1.6.19
XA ZDith SELHET BmHEEY | 100 RHEd | 100 B3 R1.6.19
J AN — i =2 B9 131 Rt 117 BREtEd R1.6.14
HYHS5UR JEH BIEJI BmHEEd 100 BmHEtEd 100 BREtEd R1.6.3
HHS5UR JEE oi==p1] BRHEEd 122 BmHEEd 111 BmEEd R1.6.13
HHS5UR EH BiIE | BEEI] 100 @HE9 ] 100 BHEEd R1.6.17
YIS R EH Bl BHEJ! 100 RHEEI | 100 BREEY R1.6.27
YHS5UR JEH miE I BHEEd 122 RHEd | 11.0 BREtEd R1.6.28
YHS5UR JEH AT EJI BmHEEd 119 mHtE9 | 105 BREtEd R1.6.28
HYHS5UR JEHE FHE BmHEEd 178 BmHEtEd| 163 BEtEd R1.6.3
HYH5UR JEE FH BREEd 172 BmHEtEd| 152 BREEd R1.6.3
HH5UR JEE FH BmHEEd 120 BmHEEd 110 B9 R1.6.5
HHSUR JEE FH BHEEI| 100 @HE9 ] 100 BHEEd R1.6.7
Y5 R EH FHE BEEI] 100 RHEE3 | 100 BREEY R1.6.10
YHS5R EH F1H BHEYI 100 RHEd| 100 BHEd R1.6.10
YH5R JEH FHE BmEEd| 117 Rt 106 BREtEd R1.6.10
HH50R JEH FH BmHEEd 100 BmHEEd 100 BREEd R1.6.18
HHS5UR JEE FHE BmHEEd 100 BmHEEd 100 BREEd R1.6.19
HHSUR EH FHE BHEEI| 100 @RHEd]  11.2 BHEEd R1.6.19
YHS5UR EH FHE BHEET| 120 RHEEd]  11.0 BEEd R1.6.21
o5 R JEHE F0H BRHEE3] 119 RHEd | 107 BEtEd R1.6.24
YHS5UR JEH FHE BmHEEd 100 R3] 100 BREtEd R1.6.27
HYH5oR JEHE EE BmHEEd 100 BmHEtEd 100 BmEtEd R1.6.4
o5k JEE ERE BmHEEd 100 BmHEEd 100 BREEd R1.6.10
HHS5UR JEM ERE BmHEEd 100 BmHEEd 100 BmEEd R1.6.11
YHS5R EH EE BHEEI| 100 RHE9 | 100 BEEd R1.6.18
o5 R JEH EE BmHEEY | 100 RHEd | 100 B3 R1.6.18
YHS5R EH EE BHEY| 156 RHEd| 140 BRHEEd R1.6.18
HYH5R JEHE EE BmHEEd 129 BmHEEd 120 BREtEd R1.6.18
HH50R JEE EE BRHEEd 162 BmHEEd| 147 BREEd R1.6.18
HHS5UR JEE EE BmHEEd| 157 BmHEEd| 139 BmEEd R1.6.18
HHS5UR EH ,,J=' BEEI] 100 RHEEI | 100 BREEY R1.6.20
Y5 R ;EH ERE BHEEJ! 100 RHEE3 | 100 BREET R1.6.27
o5 R JEHE ;EJ% BHEEY | 100 RHEd | 100 BEEd R1.6.27
HYHS5R JEHE EE BmHEEd 100 BmHEtEd 100 BREtEd R1.6.27
HYH5oR i #E BmEEd 124 BmEEd 112 B R1.6.7
HH5UR ik #E BRHEEd 145 BmHEEd 130 BmEEd R1.6.7
HHS5UR A% #E BREEd 127 RHEY| 114 BRHEEd R1.6.7
HH5R i 8 BHE3] 125 RHET | 112 BRHEY R1.6.7
o5 R Fig H R BmHEEY | 100 RHEd | 100 BREtd R1.6.4
YHS5UR IMET I BmHEtEd 100 RHt9 | 100 BREtEd R1.6.3
HYHS5R IMET ST BmHEEd 100 BmHEtEd 100 B R1.6.4
HHS5UR IMET ST BmHEEd 100 BmHEEd 100 BmEEd R1.6.6
HHS5UR IMEST I BHEEY | 100 RHEY| 100 BREET R1.6.7
HHS5UR INEST ST BHEI! 100 RHEE3 | 100 BREET R1.6.10
ED EH F0H BRHEEY 120 RHET | 112 B3 R1.6.28
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EEYEICEITAMSMYEB SR ERER ( REEE ]
SHTFEHBIES
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o FREY S BIEE BIEE BIEE ——
" g | FBP | poni13a) | (evmat37) |esvLagi| MER
BRHERIE RHERIE

T IL—AR1)— i AEIR B3 138 15.7 15.7 R1.6.21
JI)L—AR1)— it KH BmHEtEd 126 BmEtEd 114 BREtEd R1.6.19
TIL—A1— s B BmHEEd 116 BmHEtEd| 107 BREtEd R1.6.19
TIL—A1— itss] i BmHEEd 100 BmHEEd 100 BREEd R1.6.10
JI)L—A_1)— INMEST 12 BHEY| 118 RHEEF | 104 BREET R1.6.19
JIL—AR1)— K&K /IMEH BEEI] 122 REEI 111 BREET R1.6.21
JTIL—AR1)— R4 £ BHEJ! 100 RHEEI 100 BREET R1.6.17
EE JEH BIEJI BmHEtEd 100 RHt9 | 100 BREtd R1.6.19
EE JEH FHE BmHEtEd 100 BmHEtEd 100 BREtEd R1.6.28
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BEYEIZB T MY ERZATERER ( ESE ] ]
SHTEG BBIER
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o RER S B E B B 7EfE B E B ——
" g | FBP | poni13a) | (evmat37) |esvLagi| MER
BRHERIE RHERIE
ryEQOS A% AER BmHEEYT 118 RHEd | 107 B3 R1.6.14
PR =P Z#HH Z#HH BmHEtEd 100 mHt9 | 100 BREtEd R1.6.12
NPE= =D A SITE BmHEEd 100 BmHEtEd 100 BREEd R1.6.24
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EEYEICEITAMSMYEB SR ERER [ 1T ]
SHTFEHBIES
(BERL: AL JL/kg)

o RER A B E B B 7EfE B E B ——
" g | FBP | poni13a) | (evmat37) |esvLagi| MER
BRHERIE RHERIE

A4/3 JEH M BREEY R1.6.4
A4/ Z#HH Z#HH BmHEtEd 125 BmHEtEd| 113 BREtEd R1.6.10
A4/ Z#H Z#HH BmHEEd 176 71.1 71.1 R1.6.18
R4/3 KA £ BREEd R1.6.6
2/ KA &8 4433 R1.6.17
R4/ =% SFE BEEY] 100 17.0 17.0 R1.6.13
B4/3 =% STE BmHEY | 100 BHEY 100 B3 R1.6.13
A7/ =i xR BREEd R1.6.7
A4/ =i xiR BREEd R1.6.7
7% JEH EE BmHEEd 100 BmHEEd 100 BREEd R1.6.11
7% KA £ BREEd R1.6.3
7% KiB KB BmHEYT | 125 RHEY ] 113 BREEd R1.6.10
2% =% & H BRHEY | 100 RHEd | 100 B3 R1.6.12
2% =% B BmHEEY | 100 RHEd | 100 B3 R1.6.20
7% Z D4 BiA BRHEEY] 100 14.1 14.1 R1.6.14
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EEYEICEITAMSMYEB SR ERER ( ZFDM (I &E) ]
SHTFEHBIES
(BERL: AL JL/kg)
o RER S BIEE B 7EfE BIEE ——
% B g | FRBT | (pobitea) | evdnaisn  |evvassm| HAER
BRHERIE RHERIE
1/VA INEST INE 23.6 R1.6.3
1/ KK /LA BREEd R1.6.14
1/VHA PN B 36.0 R1.6.24
INFZY i A BmHEEd 100 BmHEEd 100 BREEd R1.6.12
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